1. (3 pts) Use the chain rule to find the derivative of

F)= arctan(In(z))
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2. (3 pts) Given that

{
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compute the derivative of arccos(z) using the chain rule, based on the fact that :

arccos(z) = arcsin(—z) + —.
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3. (4 pts) Below are the graphs of f(z) = €” and its inverse, f(z) = In(z). A point
on the graph of f is (In(2),2), and the corresponding point on the graph of = in
(2,1n(2)).

a. Find tangent lines to each function, but at = In(2) for f, and at z =2 for f~1.
b. Draw the lines into the graph.
c. Explain the relationship in their appearance.
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